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The subtraction algorithm (Page 2)

Zeros can present particular difficulty in subtraction.  Below the example in lesson #27, 603 – 247, is shown:

1. First write the problem vertically.  Use lines to separate the digits:

     6| 0| 3
   - 2| 4| 7

2. Since you cannot remove 7 ones from 3 ones and there are no tens from which to pull ten ones, you need to begin by removing one hundred from the 600 (leaving 5 hundreds) and change the hundred to 10 tens.
                 5|10|  

     6| 0| 3
   - 2| 4| 7
3. Now remove one ten, change it to ten ones, and add it to the 3:


           9

                 5|10| 13 

     6| 0| 3
   - 2| 4| 7
   4.  Now perform the subtractions:

           9

                 5|10| 13 

     6| 0| 3
   - 2| 4| 7
     3| 5| 6

